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QUESTION 1

Given the following: What will be the result of the following SQL statement?

CREATE TABLE t1 (colt INTEGER NOT MULL);
CREATE VIEW w1 AS SELECT col1 FROM 11 WHERE coll = 10;
CREATE VIEW v2 AS SELECT col1 FROM v1 WHERE col1 = 40
WITH CHECK QOPTION;
CREATE VIEW v3 AS SELECT col1 FROM v2 WHERE colt = 50;
INSERT INTO v3 (coll) values (30);
A. The insert will succeed as it passes validation.
B. The insert will succeed as there is no WITH CHECK OPTION on view V3.
C. The insert will result in an error as it violates the WITH CHECK OPTION on view V2.

D. The insert will succeed as the default WITH CHECK OPTION is LOCAL on view V2.

Correct Answer: C

QUESTION 2

What is the main benefit of performing an ADMIN_MOVE_TABLE operation in multiple steps?
A. It does not acquire locks on the table

B. It does not require additional temporary disk space

C. It enables the user to control when the table will be offline

D. It allows the ADMIN_MOVE_TABLE procedure to be used in HADR environments

Correct Answer: D

QUESTION 3

Which of the following actions do you need to acquire the current encryption settings for a database protected by native
encryption?

A. Select from the ADMIN_GET_ENCRYPTION_INFO table function
B. Run the db2ckbkp command and verify the compression settings
C. Checkthe encrypted database parameter in database configuration

D. Check ENCROPTS database configuration parameter for encryption options
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Correct Answer: D

QUESTION 4

On Linux and Unix systems, which of the following will set the DB2_FMP_COMM_HEAPSZ registry variable to 1 GB (or
256000 pages), only for the instance db2inst1?

A. As the db2 instance owner (db2instl) execute the command:exportbB2_FMP_COMM_HEAPSZ=256000

B. Add to the following line to the userprofile (db2instl): DB2_FMP_COMM_HEAPSZ=256000

C. As the db2 instance owner (db2instl) execute the command:db2set ? DB2_FMP_COMM_HEAPSZ=256000

D. As the db2 instance owner (db2instl)execute the command:db2set ? db2instl DB2_FMP_COMM_HEAPSZ=256000

Correct Answer: C

QUESTION 5

Which command will enable Explicit Hierarchical Locking (EHL) in a DB2 pureScale environment?
A. UPDATE DB CFG USING CF_LOCK_SZ AUTOMATIC

B. UPDATE DB CFG USING OPT_DIRECT_WRKLD YES

C. UPDATE DB CFG USING LOCKLIST 4096 MAXLOCKS 90

D. UPDATE DB CFG USING LOCKLIST AUTOMATIC MAXLOCKS AUTOMATIC

Correct Answer: C
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